Circle one correct answer

1. Why is North Korea widely seen as a threat to the balance of world power?

A) It develops  and tests destroying nuclear weapons

B) The country is planning to start war with China

C) There is the main world’s refuge for terrorist organizations

2. What kind of treaty did North Korea withdraw from in 2002?         

A) The treaty of Versailles

B) The treaty of Brest

C) The non-proliferation treaty

3. Which of the following statements correctly describes North Korea’s economy?

A) Quite open for international partnership

B) The country spends over 50% of its GNP (gross national product) on the military.

C) All products in North Korea are manufactured by state-run enterprises. 

4. How could the international community prevent North Korea from further developing of its nuclear program once and for all? Back up your point of view. 

